TNUSRB
Psychology Test - 17

Q.1) 25 GLLHENSEET QUL &G Hend LITISS 2 _aTemer. @LICLIMS CeumGseq
eTedTLION SHELINMG QBSHGLD QL SS6L @ (BHS BTG @)L LD 616Vl
LU&SHSHMHS ITHMULGSMTT. SHCLMS 36T aleV1L&H85S5H 60 [HH S 10
G QL E5H 6 2 6TaTT 6T60l16V QY TIDLISH6V 6UT 3HS 6uiflemsuleor
QL SILMSHE QDS 6765 6M60TWITeUS! G BHS (BLILIT?

a) 12

b) 8

c)11

d) @B\6v 6T&I6)LD ©)6VEm6Y

Q.2) ACADEMY 6T6dTLISI @ GSMILILNL L Quomydluiey DCEAYAM eT6oTml
SN Lmev ACHIEVE eTedTLIG)I eTedaumml GMlullLLIL@GID?

a) ICEAVHE b) ICAEHEV

c) ICEAEHV d) IEACHVE

Q.3) seoflwme semyuiley BIMH@&LD @) Fevor(h &LDLIMGIS6rfleor 2 Wiy mhieT
WenmGWl 7 LS LoMMILD 12 LS. QpeuMM 6T 419 LILISSHBISHEHE G @60 LILIL L
ST 12 LS eTeofl6b jeumnledr Gy @emLLILL L ST

a) 7.9 b) 1518

0) 1318 d) 19u8

Q.4) GaeTall& @GN 2 6T @) L6536V, HLD S TSI 6T600TSH 616V 6T&I QU [HLD?

a)6 b) 8
c) 10 d) 12

Q.5) BLPEHGHE0TL Y HIH 6 UTIHMS, 3BIH 6V &HTTH Ulev
alflen&FLILI(&SLILL LTV eLNETMITEUS! 6U(HLD CUTTE NG 6TSI?
a) Plane b) Plain
c) Plenty d) Player



Q.6) BHEN S WIN6IT QUG STl LnS60T CTTHIGHmS L 4 LDL_MBIG&H6T 3 H 6.
8 9600T(h &6T LIM& 3j6ufledr eul gl g erfler euulens el 2 1/2 OLTBIG
T\ 510 6T6vflev GLOAYILD 10 2,600T(H & 6rflev 6 Ifl60T eUUIG! LD 8>60T160T eUUIEN S
L 6755600607 LOL_MBIG &6 @) (H&HEGHLD?
13 12

a) 15 b) 11—3

1= d)1o
Q7) 1,5,5,9,7,11,11, 15,12, 17 @6UMMIET &H6UMIT6OT 6T600T60)600T &ITE00TS.

a) 11 b) 15

)17 d) 12

Q.8) P wWiledr sevoreul) B, E UlletT @G 6p( CLIedT Q, Dulledr Lnemeoredl E. P ulleor
LTWITT E. D& B 6T60T60T 2_M6)?

a) FC&HMSHTT b) LO(HLO & 60T

) FG&H TS [J60T d) L0 & 601

Q.9) @euMMI6ET CaumILIL L 60)& &IT600T.
a) 169 b) 121
c) 225 d) 196

Q.10) 826ot6uf] 1, 1992 LS 60T HLDEMLD 6760116V QUTTE D) 60T 6TIHS [HTETTEOTSI
sgeoreurfl 1, 1993?

a) QFFeUaITU b) L|& 60T

c) ellwimLpedr d) Qeueierf]

S (W6Tem LUIGDHem W QSTLITHSI LIV |SDILOITEOT MBI S 6T &I LI LIL (D 6ITermeor.
SleuMenm LT ITUIHSI 11 (NS 6V 15 eUem T 6Term G 6iTedl & @5 & (& LOmH M
aflen L serfled (BH S Flwmer eflemLenw erfl& s eayLD.

HHIGSH 60T HMSICLITIHEN6T LIMSSTLILHL @bhEH W L&
LY edrevflemevuilev 2_aTenal. SHCLMS! S HTLS5SH6V 2_6T6lT, 2 6055 5 6T L&
SLLOLDMET G&HMEVTH &HIMIGSTID, Ml 1 &JHISHSTHIID, HHIGLID Geul g
TOH&HSEULOSHMS. WHET NTCHES5S 60T 60THSLLT LDMHMID PSS
LDmeUL_ L MBIgserflewl6erT @)\ (h & JMhiS MBI EHLD &TL0SLNMTS Lievoi] Q& Wil
QS MTLEIH 6. @e6umnlev 81000 FNCeuT R 2_6TeMHTEH QSFIR M.
QUGLTHHT ShHI% 2 HLUSE GeOmhE Q&6 () eUBHMS. ST 66y
19516V 7000 &).HFTLOMS @) (HHSSHI. 19866V 1931 H.HATMTLOMTSH 60 MHSI6TETSI.



Q.11) MRS 2 MHLSSH) 35 U(HLBISETI6V 72.41600 3,8 &MMIHSICTENTSI.
a) BlFFWLMTS &ifl
b) FflWME @ [H&HE&6VITLN
C) HAUMMTSH @) (HEHFHEVITLD
d) BIEFSFWLNTSE SHeUml

Q.12) 2 6VHSTHNIGTET &JHIGHMHIGH6TI6V LOl&h QY LOINTETS QML 1
GFJMRIGLOMGLD.

a) BIF&FWIDTE HeUm

b) HEUMMTSH @ (HESHEVITLD

o) Ffllms @ H&HE6VITLD

d) Bl&EsFWLnms &if

Q.13) @BHWT QeueflBTH &H6MBHSE SHHEHMS QMEEGSINS QFUISRMS.
a) FflWms @ H& &6V
b) BI&EFWLOMS &ifl
c) CUTH W 556160 @)6L6DI6V
d) BIFEFWLNTSE SHeUml

Q.14) @BH W meNL LD 81000 &H).SHFTid GLo6eL HMHIGH CFLALIL| §)6vVem6v.
a) Bl&F&FWIDTEH SHeUml
b) HEUMTSH @) (HESHEVITLD
c) BlIFFWLOMS &
d) Ffllms @ & &6Vl

Q.15) G&MeVMT HHIGE &JmIGLID, L& H & 3676 HEIGLID 2 HLISH
QEFWRMS.

a) FflWMs @ H&SH6VITLD

b) HeUMTSH @) (HESHEVITLD

c) GUITHW 5660 @)6L606V

d) BIFEFWLDTE SHeUml

Q.16) 6(H C&HTETEHH 60T 2 THMS LI GLIMTEV 4 LOLBIG, [HET(LOETET 62(1H
SUlemw 2 ([H55H G 3T (LN6TET 6T55H6M 60T GO MTETMIGET Q& UIWEVTLD?
a)3 b) 5
c)4 d)6



Q17)Z— Z+= =1 eTevfleb x 601 LI

a) 2 b) 5
C)313/24 d) 16

Q.18) ABLMMID C Tl HHQSTLHIL QEFUIR 6TMETT. QLTSS (LNSE0L-1960V A
LI eneTmlev eedTmM@GLD. A Lnmmilh C GFMH S Q&L (N&6SL Lemalley B
W55k QFUIGTMEOTT. 24,600T(H (LNLG.6N160 @) 6VITLILD e1H.840 6T60TMITEV
IQUTHET 6UQAUTIHEUIHLD GlLIMILD LIThIE 6T6UIETE)?

a) A = €1h.280, B = €/h.420, C = €h.140
b) A = €/.270, B = €p.410, C = €h.160
c) A =¢/.290, B = €H.420, C = €H.130
d) A = €.240, B = €15.400, C = €h.200

Q.19) Y 60 90% X 6T60fl6D, X 6V Y 678G 6m 60T F&56T51D?

a) 90 b) 190

c)101.1 d)111.1
Q.20) 2,7,14,23,..2.., 47 e760Tm QS TLIfl6V ? 6T60TM @)L &F)6V 2_6IT6IT 6T600T 6TSI?

a) 35

b) 34

c)33

d) @eummlev eTaiaileLemey
Q.21) el L eflem&aLiLL LD LILG6IMI &) 60THIG 6N 60T Gl&Fevall6orsem s
STLORMS. LGNS TTUIBS Q&THSHSILLL eleormellhE
alemL_wierfl.

séval GUTIHBUTE S

6TH S QFeLaN6TID QILDMEH S Q1 FVeIl6ITEH 6L 20% L5 2 _6TETSI?

a) 2_600T6Y b) eUMLenH
c) 2 6L d) &evell



Q.22) Q&EMH&SELLB6TET L&HML U 18E TH G 2_6T6rT 6Tev0T
——— T 3

6 4 3 2 2 6
a)3 | | b) 4
c)5 d)6

Q.23) ROSE e16dTLIZI TQUG 6T6oT emLpd &L nmuilest BLUE eTedeummI

MLP&HSLILIHILD?
a) YQSF b) DNWG
c) DMQF d) CDFG

Q.24) Ineoofl 2.15 @ HSHG LD CLIMS! BIIL (LNETEH&H G LD N6oof] (LNETEH & LD
@) 60 L_GUl 2_6T6IT G&5TE00TLD 6T6OT60T ?

a) 30°

b)221/2°

c)271/2°

d) @ emeu 6T&I6)LD @)6V60I6V

Q.25) “+’ 6TEOTMITEV X', ‘- GTEOTMITEV ‘+’. ‘X’ GTEOTMITEV +LDMHMILD + 6TEOTMITEV -
6760116V 84 x 28 + 8 +10 - 9 60T LOHILIL|?

a) 23 b) 22

c) 30 d) 26

Q.26) AB eTedTLIGI 121D CD 6T60TLIGI 2310 BD 6T60TLIGI 2410 21,6076V CBAD 6T60T LIS

6T6OTEOTEU MG LD?
a) 1234 b) 2134
c) 3214 d) 43112

Q.27) BT @6v&65 WGHFF MW (LN 6UTESH 6T600T?
a) 1000 b) 1016
c) 1024 d) 1036

Q.28) 6TH& 6ot MM eLP6TMIE0l(BH S 6l &S WIMELDTeoTg?
a) 9pL1L9eT b) LOMDLILOLD
¢) &L, & 600f] d) Q@& TUIWIMLILILPLD



Q.29) Slwimentn el [FITLD LI600TE: 85T [T60T 34,6076V GLOITE6m 60T LI GLIMT6Y
S|6UEU6TEY LIGOITESITIE0T {606V 6076V TELO6m6Y. el gFemLp
SILILILQ UIIT6OT IT6L SIWITLD?

a) JGLemaq L gemLp

b) GLOMT&H 60 60T 6L LI6O0TE: & IT[J60T

) GLOM&H6m60TL] GLIMEL 6J6mLp

d) 7GLo6m6q 6L LI6o0TE: 85 1T [J60T

Q.30) @@ levmITE U6V LLHISTa6D, LDMeTHEHLIN LOUN6VEEHLD 2_6TeT6oT.
UMM 60T 5601608611 60T 6T600T600T 86018 80. 3|61 M M) 60T &IT6L & 6rfl6oT
6T600T6001 18560 85 200 6T60T16V 678 8 6m60T LOUN L& 6T 2_6iT6menT?

a) 20 b) 30

¢) 50 d) 60



